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Leve/ 2 Fortgeschr/tten - Blatt 1

Losung Al
filx) =x71 Fo) =—
1 . 1
fz(x)=; ]cz():_F
2 2
fs(x)=§+2 f3’(x)=—ﬁ
fi0) = 2P 4 357 + 2 fi(x) = —4x~2 — 3x72
1
fo(x) =—=x"2+2x71 flx) = x73
1 1 2
fe(®) =1t3 fo®) =3t73
1
£ = 3 F =5
Losung A2
1 1
f1(x)=\/§—x=x5—x fl(x)_F_l
_1 ' 1
fz(x)=%—x2=x 2 — x? fz()z_ﬁ_zx
3
f3(x)=\/F+5=x%+5 f;(x)zi\/g
1 1
AR =g = G0 - 0=y
2 3
fs(x)=i/ﬁ—:/;=x%—x% f5()—3\/_ 4‘{/_

t
fo(t) = 5x* =20 +

1
fo () =Ex —2x3 + 2t

f®) =(t—1)(t—k)
Losung A3

fix) =x3"t+tx? teR

f7(t) = 3t? — 4tk + k? — 2t + 2k

fi(x) = (3 —t)x?"t + 2tx

f() = x4 =ty dy

1 1 1 1
[ =5+5-x fi)=-——5-—-1

X3 X2 3x3  2x2

, _ 2
fa(x) = m —(x+1)72 fa(x) = CEEE
1 1

fs(x)=m—ﬁ=\/§—2x f5’(x)=205 2
fo(2) = il b '(t) = i 2b*
Vet V22 fe = ar 3um

J— =—(x — — 1 ! —_ 3
f7(tX)—f(x)—4( 2) (x—2)3 f7(t)—1+m
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